pPT [ GeV/c] RFB

(0.0,1.0) 0.808 £ 0.009 £ 0.019 £ 0.0
(1.0,1.5) 0.766 = 0.002 £ 0.014 £ 0.0
(1.5,2.0) 0.725 £ 0.002 £ 0.011 £ 0.0
(2.0,2.5) 0.708 £0.002 £ 0.011 £ 0.0
(2.5,3.0) 0.732 £0.002 £ 0.011 £ 0.0
(3.0,3.5) 0.732 £0.002 £ 0.011 £ 0.0
(3.5,4.0) 0.745 £ 0.003 £ 0.013 £ 0.0
(4.0,4.5) 0.760 £ 0.004 £ 0.012 £ 0.0
(4.5,5.0) 0.760 £ 0.006 £ 0.015 £ 0.0
(5.0,5.5) 0.811 £ 0.006 £ 0.016 £ 0.0
(5.5,6.0) 0.829 £ 0.009 £ 0.020 £ 0.0
(6.0,7.0) 0.815 £ 0.010 £ 0.029 £ 0.0
(7.0,8.0) 0.868 £ 0.008 £ 0.024 £ 0.0

(8.0,9.0) 0.835+£0.017 £ 0.027 £ 0.0
(9.0,10.0)  0.926 £ 0.019 + 0.028 + 0.0
(10.0,11.0)  0.896 £ 0.032 £ 0.050 + 0.0
(11.0,12.0)  0.925 £ 0.048 £ 0.051 £ 0.0
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